FAXF %






F181 % =
1 AAAFLUEABTHAR

FRREt 42—

AR }.

O

EHE/ TUNERR

HHEREVE S —

TRARLNY

RATAER

FH2TBNE

RR (—HRIRIR)

KRR (RERED)

D RAR

CNFEAKE CGAIDKE. AIES)
: #TFK

c tiE

o»>E @O0

M2.1.1 |MAEE FAA4F UEREHR

_70_



F2.1.1 RIEEZE - BIEAZE
X5 IRIEHESE BIEAE
RUDLE I+ —LEEELEREZ A
x5 0. 6pg-TEQ M LI &%EWUHHE;7#>75fE$UﬁWL
R EESNBEAR IO RIS TEEST
&K YVBIEST HAE
K& 1pg-TEQ/LLLTF BARFELMRBKOI12IZED B 5%
KEQDEEEKR< . )
KEDEBERIZEENZFAAXUEEY Y
KEDKEE 150pg-TEQ“gLLF JAL—HE L. BRfEgEARIAT NI ST
BESWMEICKYBIET DAHE
TERICEFNEI T/ A XUEEYVIRL
tizE 1,000pg-TEQ7glF | —dEL. BR@EARI O NS T7EERD

MEHZ K VBRBIES DHE

1) EEER, 2,3 7,8-WEEOAV-NSG-OFFLUDERICBELEET S,

2) RRBLVKE (KEDEEZRS, ) OEEET, FRTHELT S,

3) XEICH-oTIE, RIREEENER A TVWESHEATH->TH, TEFOFI A XDV
FHDENMN250pe-TEQ gl EDIGEICF, BEGTAEEZEET S LET D,

_71_




K A A > >, KP4
F28 FAFFXIUFATEHRE
=
1\
£2.2.1 SHIEE AEHR B : pg-TEQ/m’
2% X% I%iﬁ%.%
FEh S SF044E SH5E EFIE ERARR BiERE
TH12B~198(1810B~17H GERO - FEER )
EEAER 0.019 0.026 0.023 0
RITRNEH 0.012 0.034 0.023 o) 0.6LLF
ZHE/ TUNERR 0.012 0.019 0.016 @)
#£2.2.2 BETI B : pg-TEQ/m’
EHh S RERS FE 25 26 217 28 29 30 JT 2 3 4
EEAER Fe 4 ERED 0.051 | 0.045 | 0.038 | 0.033 | 0.044 | 0.046 | 0.028 | 0.038 | 0.018 | 0.023
BITRINFER Se A E D FEFEHE | 0.055(0.052 | 0.040 | 0.082 | 0.053 | 0.044 | 0.025 | 0.034 | 0.018 | 0.023
EHE/ MUhgi” |—IRIRE 0.055 | 0.039 | 0.032 | 0.026 | 0.043 | 0.024 | 0.020 | 0.019 | 0.011 | 0.016
IRIERAE 0.6L4F
1) FRRAIFEETIXZRAER. FR28EEISIEXZHE/ TUNEAR THIE
pg-TEQ/m? pg-TEQ/m3
0.7 0.7 r
0.6 0.6
0.5 0.5}
s O MRAER —o— mEAMER
. I S ET Ak 0.4 F
T RTRIER —e— wEmIE
0.3 | 2/ TN 03| BN UM (ZER)
"""" RREE e iR
0.2 r 0.2 }
0.1} 0.1F
0 p——-1 . 0 %
55 2= %% 27 W N N T 2 3 4 FE
X2.2.1 AA4FFL UKD K2.2.2 5A4FFP08(XRRD
BIERR BEEL

_72_




SAIKE

:2.2.3 HIAFEE JEHER Bif : pg-TEQ/L
EAIE EYIE IBiE A
A SH44E SH5E FEHE ERURR B
108248 18138 (GZRO - EEM x)
FZ N (LERE) 0.62 0.44 0.53 o) 1T
+®2.2.4 BEZETIE BafT : pg-TEQ/L
A S FE 25 26 27 28 29 30 7T 2 3 4
HFEN(LELE)| FEFHE | 035 | 051 [ 0.8 [0.78 {023 |03 |0.40 [0.42 |0.37 |0.53
RIERH#E 1T
pg-TEQ/L
1.5 ¢
—O— HEN (LEE)
------- B
1.0
0.5}
0 1 1 1 1 1 1 1 1 1 )
% % 2 ¥ N 3N ®m 2 3 4 &E
2.2.3 HA4AFLUHEGNKE) ODBREEL
ANIEE
+2.2.5 SWIAEE AIEHER B4 - pg-TEQ/g
RS
S #EH AR TR
SF4E108248 GERKO - JEER X)
2l (LEFR) 4.4 O 150LLF
£2.2.6 RBREEIE Bif : pg-TEQ/g
mEths | FE 25 26 27 28 29 30 T 2 3 4
FZN (LERE) 9.5 3.9 3.0 3.1 5.5 3.7 6.2 5.5 2.9 4.4
RIERH#E 150LLF
pg-TEQ/g
150
—O0— =N (LEH)
0 e B
50
0 O—0 o—O—0 —0—0—0n 0
% % 21 28 N9 N ;T 2 3 4 =HE

®2.2.4 FA4FFLEGENER OBFEL

_73_




#h T K

*£2.2.7 SWAEE AIEHER BA{T : pg-TEQ/L
- IR R
HE A REH AR ———
S4ESR24R GERLO - FEFERL x)
= 0. 062 0 1T
#2.2.8 FERAEHER B - pg-TEQ/L
ERE 25 26 27 28 29 30 5T 2 3 4
. Fig@ | &# | @K | #E | TH |mesa| @in J%ﬁﬁ WE ES
0.043 | 0.045 | 0.059 | 0.062 | 0.063 | 0.063 | 0.064 | 0.062 | 0.063 | 0.062
IRIGEHE 1T
TiE
£2.2.9 SHAFEE BIEHR B : pg-TEQ/g
- IR EAE
a5 AEH R —
£M4E128130 GERLO - JEER x)
=E2T B AR 2.2 o) 1,000LLF
#2.2.10 FERBEHR BAfI : pg-TEQ/g
FRE S B
ARTAE 0.22
25 mwIa4TE AR 2.9
=VHAE 8.1
ZRERENE 3.5
26 e RNE 0.29
A E 31
AEREY AE 34
27 FEABAE 0. 0089
ZITH P AE 0.12
AR E 23
28 £ LRTAE 3.7
FRT A 1.3
B AR 1.9
29 EH P RAR 0.88
ZBRENE 0.51 1, 00010
FEARIAE 0.67
30 ZITBAE 3.8
T A A E 6.4
NOo2TBEAE 27
_ i ABTIL A B 0. 00063
7 MILC E LR 3.9
FiEHAAE 6. 1
HEETAR 0. 040
2 eI 3.9
hEAE 8.4
FEABEAE 11
3 EENE 1.6
ZITHPE AR 0.36
4 EMMTEAE 2.2

_74_







